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Dramaturgy was
propounded by
(A) H. Garfinkel
(C) Cicourel

(B) Erving Goffman
(D) Alfred Schutz

Choose the correct matching pairs from the

following :
Meo-functionalism 1. Talcott Parsons
2. B. Malinowski

3. Jeffrey Alexander

Individual 4. R.K. Merton
functionalism
(I | I | [
(A)1 3 4 2
B2 1 3 4
cr4 1 2 3
Dy3 4 1 2
Find the correct match of perspectives with

the concepts that are gentralto them.
a. Structuralism 1. Life World
b. Phenomenolagy . 2. Accounting
c. Ethnomethodology 3. Impression

Management

d. Dramaturgy 4. Deconstruction
a g% d
(A) 2004 . 3 1
By1%3 4 2
ey 4 1 2 3
3 2 1 4
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4,

Given below are two statements, one
labelled as Assertion (A) and the other as

Reason (R).

Assertion (A): Husserl is the father of
Phenomenology.

Reason (R) : He held that certainties

are questionable.
Which of the following is the correct answer ?
(A) A'is correct but R is wrong
(B) Both A and R are correct
(C) Aiswrong but R is correct
(D) Both A and R are wrong

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : According to
phenomenologists, the
acquisition of knowledge
takes place basically
during childhood.

: The natural elements
found in the environment
and the sogial elements
created by culture form
the stock of knowledge.

Which of the following is the correct

answer ?

(A) Ais correct but R iswrong

(B) Both A and Raare carrect

(C) Ais wrong but Ris correct

(D) Both A and R are wrong

Find the correct mateh of the theorists and
their theories.

a. Althusser “1. Communicative Action
b. Habermas 2. Hegemony
c. Gramsei 3. Critical Theory

Reason (R)

d. Adorno 4. |deoclogical Theory
as b ¢ d
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D)3 2 4 1
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7.

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Ethnomethodologists
focus on how people make
sense of their activities.

Reason (R) : They study the common

sense methods used by
people to construct
Social Reality.

Which of the following is the correct

answer ?

(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Ais wrong but R is correct

(D) Both A and R are wrong

Given below are two statements, one

labelled as Assertion (A) andthe other as

Reason (R).

Assertion (A): Foucault founded the
structuration perspective.

Reason (R) : He emphasized the

interconnection between
knowledge and power.

Which @f the following is the correct
answemn?

(A). A'is correct but R is wrong

(B).Both A and R are correct

(C) A is wrong but R is correct

(D) Both A and R are wrong

7. 8ot 3 Sots TsjedN@sd RS (A),

BoEsd e (R)

SIS (A) 1 AR T UG o
ST e IS
&' Pogcrosines Sy
SodEaar

e (R) P D e RIS TR

QBERTld Th TS
3000 egiobio DD
Ealh 08" D& HOS SErgrse 7
(A) A 560058, 50 R &5y
(B) A,RDocir 15858
(C) A &3y,=d R3BAw5S

(D) A,RTocir 85y

. 308 3y Sods Toed el PSTES (A),

Bocihb rand (R)
ARED (A) 1 rE RENO0BS ST
Ot

sy (R) : eTH0, B0 oGk Mo Howairiy
T,

208 TG IB RO HETFTE ?

(A) Anedpos,zmw Ragy

(B) A,RTocir saakis

(C) A sy, 30 R80050

(D) A,RTocir 85y

| M1t

A-22-03|




9.

10.

11.

12.

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : Phenomenoclogy analyses
how social reality comes
into existence.

Reason (R) : Ethnomethodology holds

the view that there is a
social reality already in
existence.

Which one of the following is correct ?
(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Aiswrong but R is correct

(D) Both A and R are wrong

Man becomes more and more enslaved
to the level of a commodity, which Marx
calls

(A) Pauperization

(B) Alienation

(C) Proletarianization
(D) Cut throat competition

In Modern Capitalist Societies we are all
vulnerable to distorted communication.
Who said it ?

(A) Habermas
(C) Althusser

(B) Gramsci
(D) Marx

Louis Althusser is founder of
(A) Marxian structuralism
(B) " Structuration

(C) Marxism

(D) Phenomenology
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13.

14.

15.

16.

Identify the four dimensions that Giddens
calls as dimensions of modernization
among the following :

1. Capitalism 2. Surveillance

3. Industrialism 4. Communication
5. Military power
(A) 1,2,4,5

(C) 1,3,4,5

(B) 2,3,4,5
D) 1,2,3,5

Arrange the following in chronological

order in which they were implemented

1. Swarna-Jayanthi Gram Swarojgar
Yojana

2. National Rural Employment

Guarantee Scheme
3. National Social Assistance Programime
4. Pradhan Mantri Gram Sadak Yojana
(A) 1,4,3and 2 (B)'8;2,4and 1
(C) 4,3,2and 1 (D) 2,4, 1and 3

Who is the father &f criminology ?
(A) Lombroso (B) Baccaria
(C) Perri (D) Healy

Longevity reflects the following in the

Human Dewvelopment Index.
(A) Health and Nutrition
(B)»Living standard
(C)yInfant mortality

(D) Purchasing power
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5e 300 TS MGG DR e ZTes
GROHID0 ) ?

1. Depeaord S 2. gl

3. FOELIS 4. SSorgUSsS

5. Do

(A) 1,274,5 (B) 2,3,4,5

(C) 1.8,4,5 (D) 1,2,3,5
F38e0 Sosrons el ekon SE08 88

fyols otneted
1. Sgfesolod i 8 el dlress
2. erdaD [raoes e B $Eo
3. @Sl JHNIEE b TUyESo
4. PoEssocd ko &S @res
(A) 1,4,3,58a02 (B) 3,2, 4,500 1

(C) 4,3,2:58a% 1 (D) 2,4, 1:58a%0 3

e F.:r*i‘.;:&é ST IS 7

(A) aoF (B) ez 00
(C) w2 (D) &
S @Ry Brsd) Hgze E5Xo B

BEodiood 7

(A) &80 Hbab FRE=rvo
(B) =5 Buren

(C) %% soberen

(D) oo il

| M1t

A-22-03|




17.

18.

19.

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : In India, people
belonging to the lower
classes have a higher
fertility rate than those
from the upper classes.

Reason (R) : The poor people cannot
afford to buy

contraceptives.

Which of the following is the correct

answer ?

(A) Both A and R are true and R is the
correct explanation

(B) Both A and R are true but R is notthe
correct explanation

(C) Aistrue but R is false

(D) Aisfalse but R is true

Find the Correct Match :

a. Malthus l. Geometric Ratio

b. Notestein Il. Intermediate
variables

c. Kingsley Davis [ll. Demographic
transition

(A) a—Il,b—Ill and c=1
(B) a—Ill,b—Ilandé—|
(C) a—I, b—dlandc— Il
(D) a—1,b=Mlandc—1I

Identify the gorrect order in which the
followingtook place :

|.“Indian Population Census
Il."+ England Population Census
lIil. "USA Population Census
(A) 1, ltand 1 (B) I, llland Il
(C) Il,Mand| (D) ML, Mand 1
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19.
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20.

21.

22.

23.

24,

Sanskritization is _______ source of
change.

(A) an exogenous (B) anendogenous
(C) cultural (D) terrestrial

The analysis of Indian Social change from
Marxian Dialectic perspective was made
by

(A) D.P. Mukheriji

(B) R.K. Mukherjee

(C) T.K. Oomen

(D) Yogendra Singh

“Indian Nationalism is a product of
material conditions” created by the British
colonialism”. Who said this ?

(A) D.P. Mukherji  (B) M.N. Srinivas
(C) S.C. Dube (D) A.R. Desai

Find the correct sequence in which the
following made systematic study on rural
India.

(A) N.K.Bose, D.N. Majumdar, M.N. Srinivas
and S.C. Dube

(B) D.N.Majumdar, M.N.Srinivas, N.K. Bose
and S.C. Dube

(C) D.N.Majumdar, N:K:Bose, S.C. Dube
and M.N. Srinivas

(D) S.C.Dube, N.K.Bose, D.N. Majumdar
and M.N. Srinivas

Singer and Marrioft Primary used which
of the following concepts to explain social
change in India ?

1. Little Tradition

2, Westernization

8. Great Tradition

4, Modernity Continuum

5. Modemization
(A) 1and 3
(C) 1,2and 4

(B) 2,4and 5
(D) 1,2,3,4and5

20. Roieste S0 orea
(A) ex 85850 (BIes Jof3s8
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25.

26.

27.

Given below are two statements, one

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : India’'s sex ratio is
favourable to females.

: India has made a lot of

legislation favourable to
women.

Reason (R)

Which of the following is the correct

answer ?

(A) Both A and R are true and R is the
correct explanation

(B) Both Aand R are true, but R is not the
correct explanation

(C) Aistrue but R is false

(D) Ais false but R is true

The number of children born.te. 1000
population in one year is known.as

(A) Fertility rate

(B) Crude birth rate

(C) Crude reproductionrate

(D) General fertility rate

Find the correct match by identifying the
sociologist and thewillage they studied.

a. M.N. Srinivas i. Shamirpet
b. Andre Beteille ii. Rampura
c. S.C.Dube iii. Kishan Garhi
d. MecKim Marriott  iv. Sripuram

(A) a=H, b—iii, c—iv, d—i
B)a— iv, b—ii, c —i, d — il
(€ha—i, b—iii,c—iv, d—ii
(D) a—ii,b—iv, c—i,d— iii
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b. o &ad ii. ToHy
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(cr

d. Zod3 sreamed v, 8o
(A) a—ii,b—iii,c—iv, d—i
(B) a—iv, b—ii,c—i, d—iii
(C) a—i,b—iii,c—iv,d—ii
(D) a—ii,b—iv,c—i, d—ii
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28.

29.

30.

31.

Findout the sequence in which the following
Acts pertaining to women were passed.
Immoral Traffick (Prevention) Act
Child Marriage Restraint Act

The Dowry Prohibition Act

The Protection of women from
Domestic Violence Act

(A) 1,3,2and 4 (B) 3,1,4,and 2
(C) 2,1,3,and 4 (D) 1,4,3,and 2

o o=

Which of the following are the followers of
Demographic transition theory ?

l. Dalton Il. Thomson

lll. Notestein IV. Blacker
(A) I, lITand IV (B) I, 1, Mand IV
(C) I, Iand IV (D) I, itand I

Which of the following is true of the post
transition stage of Demographic transition ?

l. High birth rates Il. High death rates
lll. Low birth rates IV. Low death rates
(A) land Il (B) land IV
(C) Mand IV (D) Iland Ml

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A): According.to the Indian
Census Act, 1948, it is
not mandatory for all
persons in India to
answer the census
guestions truthfully.

:The information given to
the census enumerators
cannot be used as
evidence in courts of law.

Reason (R)

Whichvof the following is the correct answer ?
(A) “A is correct but R is wrong

(B). Both A and R are correct

(C) A is wrong but R is correct

(D) Both A and R are wrong
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32.

33.

34.

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Malthus published an
essay proposing his
theory of population in
1798 anonymously.

: He was favourable to the
use of contraceptives.
Which of the following is the correct

answer ?

(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Aiswrong but R is correct

(D) Both A and R are wrong

Reason (R)

Given below are two statements, one

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Indian population census

is a union subject.

: Itis under the Ministry of
Human Resources.

(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Ais wrong but R is correct

(D) Both A and R are wrang

Given below are two statements, one

labelled as Assertion (A)and the other as

Reason (R).

Assertion (A) : 'The Hindu Marriage Act
was passed in 1955.

¢ The Act enforces
permitting  Judicial
separation and divorce
among Indian Citizens.

Whichuofithe following is the correct

answer ?

(A) A'is correct but R is wrong

(B)*Both A and R are correct

(C) Ais wrong but R is correct

(D) Both A and R are wrong

Reason (R)

Reason (R)

32. 2o aim& Both Tes” el Be

. 8o 3T Socd Tsed

A R
s (A),
Bosd reod (R)

SOFES (A)

wmas (R) : NGy IS Fsens TSRS
B0 GRCETOOTT et

B0l TSRO SN HErge ?

(A)QA 3BS6, =0 R &y

(B) A RSccr 2odnd

(CY Mgy, =0 R 50058

(D) AR Tocr sy

- o8 Fin® Botd T b’ ase) HIIES (A),

3050 o (R)

Ba3ES (A) 1 aroSoh edies Sol ecdo
oy (R) @8 SIS She o dtER

Eﬁ‘}g@cél” &08
BodTd 26 ; JL-:ICJ_.-_,\J SISO ?
(A) ARBapsd, 0 Ry
(B) A,RCocr 50cknd
(C) A&y, =5 R S5 eBM It
(D) A,RTocr &by
53 BATES (A),
Todsd o (R)
EaEs (A) TrosT o.r“* rotye, 1955
VoS B Tod e Sovoétne

SIA)
oy (R) @ $4Q0 B5Jo 3ok i
Lwada‘: deed JGerin
50800 s Fosoes
20 SBhotoso
Elela =08 Do rﬁﬁma a0 9

{A} A JCMIE«JI-;, =] ;x.-' R éo.-;\.?
(B) A,RCocr 3ecdis
(C) A sy, 520 R 508
(D) A,RTocir sy
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35.

36.

37.

38.

Choose the traditional values from the list
given below
1. Achievement 2. Particularism
3. Collectivism 4. Universalism
5. Individualism 6. Ascription
(A) 1,3and 6 (B) 3,4and5
(C) 2,4and 6 (D) 2,3 and 6
Match the following tribes by the States
they live in
a. Khasi Gharo and 1. Bihar and
Naga West Bengal
b. Meena and Bhils 2. Tamil Nadu
c. Santhals and Munda 3. Rajasthan
d. Toda and Kota 4. North East
States

(A) a-2,b-3,c-4,d-1
(B) a-3,b-1,c-4,d-2
(C) a-4,b-3,c-1,d-2
(D) a-1,b-2,¢-3,d-4
Match the following :

a. Second shift  i. A barrier that prevents
women from achieving

highest positions
b. Glass ceiling ii. Men and women are
concentrated in

different occupations
The house work that
women have to do at the
end of paid work.

(A) a-ii, b-1, e=ii (B) a-iii, b-i, c-ii
(C) a-iiyb-iigc-i (D) a-i, b-iii, c-ii

The_emigration of highly skilled people
from the developing countries is known as
(A)-Human capital wastage

(B) Labour migration

(C) Brain drain

(D) Productivity loss

c. Gender Typing i,

35.

2ot 3ins 736" Fopimraiileligoo Hbotod
1. rfoiito 2o
3. Whiposto @ JFescbo
5. DoXdss B esG st

(A) 1, 3 508050 6
(C) 2, 4 5088 6

(B) 3, 4 580 5
(D) 2,3 SoBox 6

» B0t e Vg0 70 s oS’ et Bothods

a. s soboo 1. 5555 Sobo
?:EJ Zorrd

b. “Jeaf 50800 2. BT

€. [Pordy oo Sot 3. TR

d. ¢ Soboi B BTy D“.ﬂgv_u

(A) a-2,b-3,c-4,d- 1
(B) a-3,b-1,c-4,d-2
(C) a-4,b-3,c-1,d-2
(D) a-1,b-2,¢c-3,d-4

37. Zod el esShGTon
a. 2306 2ped I Solrden &Sy8 Tdo
DO e9CaIN0D
b. @“Efoﬂoﬁ i Em HUopes D050
Y8008 DSITRD DTN
C. BothQdoh  iil. 38508 FrAS B
BEITE & DANHONT
o3
(A) a-ii, b-i,c-iii  (B) a-iii, b-i, c- i
(C) a-ii, b-iii,c-i (D) a- i, b-iii, c- i
38. oD DotoBoiy BT S0k &N PRYERE

DA D Ser MRS DBt ¢
(A) 505 550 5T

(B) meaosher

(C) Boxns Gosos

(D)

e Tt

s r._l.s,;p
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39. Which of the following refers to infant

mortality ?

(A) The death of children below the age
of one month

(B) The death of children below the age
of 5 years

(C) The death of children below the age of
6 months

(D) The death of children below the age
of one year

40. Who identified eleven intermediate

variables affecting fertility ?
(A) Davis and Blake (B) Goode
(C) Maclver (D) Moore

41. Which of the following statements about
the following is the best answer ?
|. Liberalization |Il. Privatization
lIl. Globalization
(A) | and Il are strategies and Ill is an
outcome of these strategies
(B) Il and Il are strategies and'| is'an
outcome of these strategies
(C) I and Ill are strategies'and.ll is an
outcome of these strategies
(D) 1, 'and Il are strategies as well as
outcomes

42. Which of the following are the reasons for
India going in for the New Economic
Policy ?
|. Heavy Government borrowings
Il. Inefficient management of PSUs
lll. Welfare of the employees of the
PSUs
IV. dMF and World Bank's insistence on
fulfilling the conditions if loans are to
be given
(A) 111 IV
(Cy 1, 1,1

(B) 1,11, IV
(D) 1,1, IV

39. 5+ 2o T3S DB 3 Solemeso W0 ?
(A) 5RedH Foe Hing
(B) 5 toxdnore & PFhde Sobeo
(C) 6 Rocd Plsie Sodemo
(D) a5 0emEnGo ) FhHo Bt

40. o RigRT >0 W HEE ot KgoBt 0T
DIEROETTTE ?

(A% S0bas HE
(G) 35 6

(B) &
(D) 556

8. 200 3305 eI H00UN g TEmEE 90
DOCIN ST BeHod.

. 55955 I GRgESS
. Bkousten
(A) 135580500 I13grgsfes 51 1115 5880
(B) 115508c0 I grrgrfeo 51 1 & 3880
(C) 1080k Il ey rgstos s 1 263 580
(D) 1, Il 5080 1 regafen Hodoite yOTres

42. ro80E0 §8 @0 ITWo whecdolards
SEeren noosd 9

. eB8R05 Hebits edyes
Il. Eebston Sope ekeg J85re

Il Genss Sor Doge woa), &ybe sogmo

IV. | MF 5000500 (@390 ergef dlood), Soeres
SRENENE DEBeD ééeama’:h Serogiten

(A) 1,11, 11, 50800 IV (B) I, 11, 508as IV

(C) 1N, Se8amalll (D) I, 1, 508 IV
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43.

44.

45.

46.

Which three of the following are often
regarded as characterizing globalization ?
l. Increasing space
Il. Shrinking space
lll. Strengthening borders
IV. Shrinking time
V. Disappearing borders
(A) 1001V (B) 1,1, 1V
(C) LIV (D) I, IV, V
The following term is used to describe the

increasing geographical relocation of
production processes on a global scale by
multinationals.

(A) Deep integration

(B) Hyper globalization

(C) Modularization

(D) Transformation

Caste linked economic relations are
called by different names in different parts
of the country. Find the correctmatch for

the following :

a. Maharashtra i. Adade

b. North India ii. Mirasi

¢. Tamil Nadu iii.. Bara Batute

d. Karnataka . Jajmani System

(A) a.iii, b. iv, c. jii, i
(B) a. iv, b. iii, c. i, duil
(C) a.i, b. iv, e, d. i
(D) a. ii, baiv, c.1, d. i

The indigo peasant movement took place
in these places

12.Pune 2. Champaran
3. Dharbhanga 4. Ahmadnagar
(A) 1and 2 (B) 2and 3
(C) 2and 4 (D) 1,2,3and 4

43. SSouksieni TR Srdms D efETen :

l. 28R TR0 586
. 8&R FROLH86
lll. exedeato $EER
IV. $0005080 Feod oo
V. Srobsogites, Seme
(A) 11,1, 5s8a@ss IV (B) 1, 1, seocss IV
(C) I, I ®cak:lV (D) NI, IV, 0B V

- W, Dogoe (PR0U TgRoit PEYE,

BT e STE SR B lon Bio
(B) B3 3e3Ens

(B) 57 Ted@ns

(€) 5rcoe0dss

(D) e,B5558

- 0BCT wlY Donorody B¥eS I

wrogred’ §5OTeom Dords Eod el
SO0

a. Sorfory, i G

b. &8 erssiiio ii. Jood

C. BT ii. erd etardd

d. ig';‘éaﬁ iv. Qi?mn;ﬁnﬁéﬁéé;g

(A) a.iii, b. iv, c. ii, d. i
(B) a.iv, b. iii, c. i, d. ii
(C) a.i, b.iv, c.iii, d. i
(D) a.ii, b. iv, c. i, d. ii

- QPR SEIATESHo0 Tt IS

roTres
1. 508 2. Hoora
3. &Gor 4. b Enb
(A) 150600 2 (B) 2 s08a%o 3
(C) 25080 4 (D) 1,2, 3:5006c04
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47.

48,

Identify the books written by M.N. Srinivas

1. Religion and Society among Coorgs
of South India

2. Caste, Class and Power
3. Caste in Modern India
4. Cultural Change in India-ldentity and
Globalization
(A) 1,2,3and 4 (B) 1and 3
(C) 1,2and 3 (D) 1,2and 4

Match the following organizations with
their founders

a. Brahmo Samaj 1.
b. Ramakrishna Mission 2.
¢. Prarthana Samaj 3.
d. Arya Samaj 4.

Vivekananda
Dayananda
Rammohan Roy
Ram Balakrishna
Jayakar

(A) a-3,b-1,c-2,d- 4

(B) a-2,b-1,c-4,d-3

(C) a-4,b-1,¢c-2,d-3

(D) a-3,b-1,c-4,d-2

47.

I O 0

Eod T38° MN. 305 sgodSicgroso
HOBovod
1. 0&2a0sS wok el @nreh b b 78

e

, 570 wol 580
75{;5 SIS aodd’.u’:“
S-:::gnu’.if."i- 2o 30 Fododr oootded wob
ﬁ“a:@a—mw
(A) 1, 2 355804 (B) 1508003

(C) 1,2:568c 3 (D) 1, 2:306a0 4

2.
3.
4.

o
E ¢ E?_ﬂ

AT-1oTA) [y oo Solain BHoil AR
eSO
a. Lg:x;‘fi;ﬁ;x‘”zj 1. Jasmsos
b d‘ﬁa%ﬁﬁamﬁ 2. Gairiod
5- @‘Eﬁ:}“ e 3. TREre oD
d. Jesd; e 4, ordo eredd,
]
esaosh

(A) a-3,b-1,¢c-2,d-4
(B) a-2,b-1,c-4,d-3
(C) a-4,b-1,c-2,d-3
(D) a-3,b-1,c-4,d-2

49, Identify the features of the 73" Amendment w w < baes =
- 13’92 49. Ea&;.;gm 50 1992 Gn), ofeTess
1. It gave constitutional status to 1. SoTans ool S50% Crengon o
Panchayathi Raj Brod0d ’ :
2. Reservation of seats to.SC's, ST's 2. w S 50700, WHETE0 Do) 5050
and women in Panchayat Raj &&5 SoTratded® 8eBusd HEoTaho
3. Fixed tenureto Panchayathi Raj g@wo&
4. Tookaway the powers to impose taxes 3, somabdon To 500 IR0
(A) 1,2,3and4 [ /(B) 2,3and 4 4. 590 290D 6fT6d Foholod
(C) 1,2and 3 (D) 1,3and 4 (A) 1,2, 3508004 (B) 2, 35080 4
50. Which of the following statements are (€) 1,228c03 (D) 1, 330 4
correct ? 50. 5+ 208 TIE° D BOE0ED 7
1. Delingueney involves violation of norms 1. 00 (S SR 6 ePty ook
2 Eﬁ:&?g:iggﬂ'?aafg:game to only 2. w306 35S 18 Soste &% bgos
3. Delinquency is characterized by FHOE0IOUES
deviant behaviour 3. eboditen @BoE EHGHDH Hoaofolsd
(A) 1,2and3 (B) 1and2 (A) 1,25000003  (B) 1 50b0io 2
(C)2and 3 (D) 1and 3 (C) 250050 3 (D) 1 500005 3
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51.

52,

53.

54,

Which of the following institutions are
formed to rehabilitate the Juvenile
delinquents ?

1. Certified schools 2. Bostal schools
3. Open schools 4. Foster homes
(A) 1,2,3and 4 (B) 2,3and 4

(C) 1,2and 4 (D) 1,2and 3

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A): Kate Millet is a radical
feminist.

: She argued that the
superior physical strength
of the male is the root
cause of male domination
in all spheres of life.

Which is the correct answer ?

(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Ais wrong but R is correct

(D) Both A and R are wrong

Find the correct match :
a. Betty Friedon

Reason (R)

1. Vindication of
the Rights of

Women

b. Mary Wolistonecraft 2..The Feminine
Mystique

c. Kate Millet 3. The Concept of
Cage

d. Marylin Frye 4. The sexual
Politics

(A) a-4,b-1,c-3;d-2

(B) a-2,b-1,c-3,d- 4

(C) a-2,b-1,6-4,d=3

(D) a-2,b-3,c-4,d- 1

Which of .the following factors facilitate
deviance ?

1. Faulty socialization

2. FEffective enforcement of norms

3. Ineffective enforcement of sanctions

51.

52.

53.

54.

e BOne PETEEsn Sof Sapdod Tedd’
De30 EBATATED ?

1. 5ok rvTees @, BRS rvToes
3. GoE rvToes  MRSOHE (O

(A) 1,2,3and 4 (B) 2,3and 4

(C) 1,2and 4 (D) 1,2and 3

Eods 3% SaligETes’ sl EOES (A),

Bosnd iral(R)

sa>asA) | : LeRwPTesTdsS 5o

o (R) : &) Sored” HHAHEBH
Sarestdoo  Hdoipw
Oireseiiy e esto %08

SO S" D6 DB S5TETso 7

(A) A,RTocr 505 Sobaks R 13000 D5
(B) A,RTocr 13253 , 520 R 58 250 576
(C) Asdsd s RSy

(D) A&y s Rignd

20CGLE Bbok ool

il

a. 8¢ (s 1. DodE5s e Ded
) 5 05

b. 200 83 &5 2. 8925 W

C. FeT0ges 3. oz eRid

d. 2085 @ 4. BB DG,

(A) a-4,b-1,¢-3,d-2
(B) a-2,b-1,c-3,d- 4
(C) a-2,b-1,c-4,d-3
(D) a- 2, b-3, c- 4, d- 1

0B FoolbeoH SETen DD ?
1. &% grosgiaos Fsredssen
2. Dobsore B8 SeEERs Jaboges

P . .
4, Consistency in the reward and 3. WoTHRPN Bofes ekows
punishment 4. ?\_‘::{ﬁn.}_é UETORIT RN SoBailo 458 dprio
(A) 1and 2 (B) 1,2and 3 (A) 1and 2 (B) 1,2and 3
(C)1,2and 4 (D) 1and3 (C) 1,2and 4 (D) 1and 3
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55.

56.

o7.

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A): Lombroso is a positivist
who advocated a
biological explanation of
criminal behaviour.

: He held that criminality a
result of hereditary factor.

Which of the following is the correct

answer ?

(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Aiswrong but R is correct

(D) Both A and R are wrong

Reason (R)

Given below are two statements, one
labelled as Assertion (A) and the otheras
Reason (R).

Assertion (A): The concept of Alienation
was introduced by Max
Weber.

: Alienation invelves the
separation of the worker
from the product of his
labour.

Which of the following is the correct
answer 7

(A) Ais correct but R is wrong

(B) Both A and'R are correct

(C) AiswrongbutR is correct

(D) Both A and R are wrong

Reason (R)

Certified schools, Borstal and Foster
homes are the institutions to rehabilitate

(A)-Women criminals
(B). Terrorists

(€) Paupers

(D) Juvenile Delinquents

55.

57.

NI SO
8ot 5 Dotk T5ed” k] 3OS (A),
Todsd e (R)
BERED (A) @ ol L TRINY, D
BRI S BIE SoroGRRRsd)
EETrRoT.

o (R)
EoF LS 0N SSogTso 7
(AY Anedons, == R
(B) A, R oo 156052

(ChA 535, =0 R 50058

(D) A,RTocr &by

3y

b ot 30 Both Terped’ e BEIES (A),

Todsd o (R)
BaES (A) TSR0
28 T

s e, =5
. w;.@wwéﬂ el
2

oy (R) } PRORI0 €083 SEECD B
SOOI DB

e e e

o A
o200

Eod TIE” DO HOALH JHrFESe ?
(A) Asoapis, s Rogy

(B) A,RToer 506059

(C) A&y, =0 RBodLnd

(D) A,RTocir 85y

i =
& Hiﬂ

SWE0oS $gp& TuToe, FRRoTACER
BoBaie WoREe Aprfed’ HETTo 8B
BT

(A) sobre Doige

(B) &sareoes

(C) Grermrds

(D) eredispen
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58.

59.

60.

61.

Who introduced the term ‘ecofeminism’ ?
(A) Carol J. Adam

(B) Helen Aylon

(C) Francoise d' Eaubonne

(D) Judy Bari

The Bill for “Protection of women against
sexual harassment at workplace”
appeared in the year

(A) 2011 (B) 2010

(C) 2008 (D) 2009

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Talcott Parsons held that
men perform expressive
roles while women perform
instrumental roles.

: According to him
biological division of
labor leads to gender
roles.

Which of the following issthe correct

answer ?

(A) Both A and R are true and R is the
correct explanation

(B) Both A and R are true but R is not the
correct explanation

(C) Ais true but R is false

(D) Ais false but R.is true

Reason (R)

Which is the most appropriate answer for

what patriarchy refers to as per the

feminists ?

(A) Property is passed down from male
lineage

(B). Male dominance in the family

(C) Male dominance in all the institutions
of society

(D) Only male is regarded as the head of
the family

58.

59.

61.

5 AN SHETESE D B T

(A) =52 eatsSs

(B) 783 perd

(C) Jrcounhd s

(D) e=& erd

"SES &S BTy, PSS o S0005 25
50), 2% LW Q0D HokE 5w

(A) 2011 (B) 2010

(C) 2008 (D) 2009

- 300 WP Soco T5d” ekl PGS (A),

©d98 trao (R)

B3 (A)

P DOoves gl dysowd
e, e S5 e
Q0 /3

s (R) P esalod (PEede 228 s

Jeyesss Bosh 'S od
EReta)

Eod TIE" IB DO ST ?

(A) A,RTocr 505 SobaXs R 1300105 D0
(B) A,RTo&r 36ckise, o0 R 50 2583 3%
(C) Asgsa s R ey

(D) A &y 50 RiSgnd

DB LS Gree EFTo §od I
TS 08

(A) sooEhoe HENoT G0

(B) Sescowod’ oSt

(C) #5rreod™d e doigod PHAGHe

(D) s 5o Hewoe L el TG0
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62.

63.

64.

When work is external to the worker and
is simply imposed on him it leads to

(B) Alienation

(D) Revolution

(A) Deviance

(C) Pauperization

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : The evolutionary model of
social development has
largely been abandoned
by sociologists.

Reason (R) : Social development

implies increase in
rationality.

Which one of the following is right ?
(A) Both A and R are true and R.is the
correct explanation of A

(B) Both A and R are true but R is hot the
correct explanation of A

(C) Ais false but R is true
(D) Ais true but R is false

Match the following diseases by their

classification :
a. Vector borme disease 1. Measles
b. Water borne disease

¢. Respiratory disease

2. Tuberculosis

3. Diarrhea

d. Vacecine Preventable 4. Malaria
disease

(Ay1,4,2and 3

(C) 4,3,2and 1

(B) 4,1,3and 2
(D) 3,4,1and?2

62.

L=}

SENPC FRLEDRED B0 eP; .;J.J;..]:IEEDDE’ Soboto
e8I Drdncorod sfaRs I $iood 7
(A) oo B35 I:?E@ﬁ

(C) Gredabdio (B) ecsgso

. 8o 3 Do Typd” el RIS (A),

Tocssd trsa, (R)

BEREHYA) | BSSruTRdger FErey
@f,:ég&_]:i e S8erSa
M e ITrG wrer Sd 30
SOSTD

weip (R) @ Turasds)gs” rsoss
MG el

2ol TG DO HOALH FHrFESe ?
(A) Aoopns, =0 REgy

(B) A,RBo&r 386059

(C) A&y, =0 RSodss

(D) A,RTocr &by

- B0l 3 TGeito Tred STy el et
a. Soeoo TR 1. Bew
b. Jedmor Ty 2. soib
C. &0dBie TR 3. T
d. &= 2870 4. sodearr

(A) 1,4,258003 (B) 4,1, 350800 2

(C) 4,3,258001 (D) 3,4, 15006002
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65.

66.

67.

68.

69.

Match the following Articles of Constitution

of India by the provisions :

a. Article 15 1. Equality of opportunity

b. Article 16 2. Abolition of
untouchability

Freedom of speech efc.
Prohibition of

c. Article 17 3.

d. Article 19 4.
discrimination

(A) a-4,b-3,c-2,d-1

(B) a-3,b-4,c-2,d-1

(C) a-1,b-3,c-2,d-4

(D) a-4,b-1,¢c-2,d-3

Deconstruction is the concept of
(A) Foucault (B) Derrida
(C) Goffman (D) Jeffrey Alexander

In whose theory Actor- Structure duality is
emphasized ?

(A) Habermas (B) Luhman

(C) Anthony Giddens (D) Callins

Which perspective believes that the
ultimate objective of any theory should be
the emancipation of man from oppression
and exploitation ?
(A) Critical

(C) Functionalist

(B) Neo- functional
(D) Structuration

Identify the persons who were the Chairman
of Backward Classes Commission

1. KM. Munshi 2. Kuppuswamy
3. B.P. Mandal 4. Kakasaheb Kalekar

(A) 1and 3 (B) 2and 3
(C) 3and 4 (D) 1and 4

65.

67.

grUBTEronod D ($ob eqEt BBt TeE
RSOV OISR Nietelete)

a.e035156 1. SNgetisew
b.esg¥d 16 2N eodtrisio Jiio
c. esg¥6 17 3. @5 Ssoo

d. es05d 19, 4. g0 SrpErdo

(A) a-@#,b-8,c-2, d- 1
(B). 348, b- 4, ¢- 2, d- 1
(C) a1, b-3,¢-2,d-4
(D) a-4,b-1,c-2,d-3

POSSHES ety o795 508 7

(A) F=
(C) w5508

(B) cow
(D) 256 esdrpocsd

258 THaD T ezb-EHt woto WA
SeGod.

(A) ‘rebsrh (B) ersos
(C) wof?igs, (D) 585,

. opdlH8 Sobodw &hd Scod SFES Jswd

TR dlo), eodih of (o POt o
28 ?

(A) 8355 (B) 5 Hogd
(C) ozl (D) §=y8aS
L DRECES B0 KNS5 eiipednini 703
o Mogotod
1. KM.swoy 20 Spdno
3. B.P.5wosd 4. sErirdzash
(A) 150800 3 (B) 2 50800 3
(C) 3 =0bcin 4 (D) 1 508co 4
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70.

Drug addiction is basically

(A) Physical dependence on the drugs

(B) Psychological dependence on the
drugs

(C) Social dependence on the drugs

(D) Physical and psychological
dependence on the drugs

Read the passage below and answer the

questions that follow (71-75)

Recognizing the importance of Health in
the process of economic and social
development and improving the quality of
life of the citizens, Government of India
has launched the NRHM to carryout
necessary architectural correction in the
basic health care delivery system. The
NRHM adopts a synergistic approach-by
relating health to determinants of good
health viz. nutrition, sanitation, hygiene
and safe drinking water. It also aims at
mainstreaming the Indian.systems of
medicine to facilitate health care.

The NRHM, a national effort at ensuing
effective health gare was launched in
2005. The NBRHM covers all the villages
through village based ASHA, who would
act as a link between health centres and
the villages. The ASHA would be trained
in sanitation, hygiene, contraception and
immunization to provide primary medical
care for diarrhea, minor injuries and fevers.
They would also deliver DOTS course and
oral rehydration, distribute folic acid tablets
and chloroquine to patients and alert
authorities to unusual outbreaks.

70. 35¢SE (T S590 e Boon

(A) Frasom, T005cm SRMGET R LTSt
&odicio

(B) smishsiorne 5ol iTloR eerisd dodicio

(C) Trsressorr 2oress (S &riad sodico

(D) Tlosonfas@grnsonis Sres (e
s 5G g Cio

$od DESIEAD ol SGoTrd (DE oL

FER L OBowNot

FBRET 50000 elY edS)d FHouced”
S§0giny Frthe uo), 255 EEreTes O
$o5cia8’ &8 o oy, So¥ g KBTS
erosEebEse NRHM S0 hod esbingises
wolotiEod” STOEN BTt Dedod. 5000
SGTgI8 eSOORN TPE o J0HY 5.
SORIERS,0535 SO Hoed woreii APt
32372 NRHM caog), Bes poeron. S erexn
GOSLECS” el 555 btouky S el
Lo wobotitiod” ASITRotITot08. T
Tmor wden soboteld s NRHM &S
2005 Songod” hoiico edhod. [rEred”
ot ASHAeo, [mSreso Hsﬁﬁﬁowﬂaﬁ
e Hots oo NRHM ersstisos ™)
o) MEred’ J5Bod. o 5o, S0E,
$otwow JooEay Wiy Mmoires 5280k
e3P0 a0 D88y Soed Jiaires’ ASHA
o 3561 SOvrth. 238 et DOTS Socdoes,
F580 £'E000% eI wobod VI8, IOE edhé
50800 erTes &95'3.’{5 sTmEes afstho
i SHINCEC Hoed SETErens ASHA
o DIET.
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71.

74.

75.

The general norm as decided under the
programme is ‘one ASHA per 1000
population’, in tribal, hilly and desert areas,
the norm could be relaxed to one ASHA
per habitation, dependent on workload etc.

N R H M stands for

(A) MNational Rural Health Management
(B) Mational Rural Health Ministry

(C) National Rural Health Mission

(D) Mational Rural Health and Medical Care

Which of the following adversely affects
the health ?

1. Eating Nutritious food

2. Lack of Sanitation

3. Open Defecation

4. Polluted water
(A) 2,3and 4 (B) 1,2and 3
(C) 1,2and 4 (D) 1,2,3and 4

Of the following what are the Indian
systems of medicine ?

1. Ayurveda 2. Unani

3. Acupuncture 4. Homoeopathy
(A) 1,2and 4 (B) 1,3%and 4
(C) 1,2and 3 (D). 1,2,3and 4

Who is ASHA ?

(A) Assistant Social
Awareness Worker

(B) Accredited Soeial Health Activist

(C) Assistant of Socialand Health Action

(D) Active Social and'Health Assistant

Match the following diseases and their
treatment

a. Malaria 1. Oral rehydration
b. Anemia 2. DOTS course

¢. Tuberculosis 3. Chloroquine

d. “Diarrhea 4. Folic acid tablets
(A)a-3,b-1,c-4,d-2

(B) a-3,b-4,c-2,d-1

(C) a-2,b-3,c-4,d-1

(D) a-3,b-2,c-1,d-4

and Health

1.

74.

75.

=

e
Jrrdeson (58 Do ereits LHASHA e,
Dohisoo xopheds, Breo SRS E, Sotion X0
S0t wromed’ &2 MEOH 3T, ef I
roorls e SASHABE SR 280 sed Jalrieto
actand.

N R H M J:p@s08ec
(A) 2558 @EsS g domeiaooed
(B) Suidings S8 g 2033
(C), 3588 PSS 2mg e
(D) Ve orod wrd wok 20éedsh
RO (Herlto Wi eoTen (2od
RS o) 7
1 T essoo Siusiuco

2. :‘f«aaag &30
3. esto eaches Lmi’)é{ﬁ%
4, Seoh Do

(A) 2, 3 5oban 4
(C) 1, 25000 4

(B) 1,2 5o8am0 3
(D) 1,2, 3:5:8a%0 4

- Eob B0 TeIE eradl el Sgpeo 22 7

2. o)

4. Foodrnd

(B) 1, 3 50Baxn 4
(D) 1,2, 35800 4

1. escludgio
3. wHgiond
(A) 1,2 5080w 4
(C) 1, 250800 3

ASHA es06) 2585 7

(A) etioed Foond ek rdenbad ¥8),6
(B) wRGaE Fopnd g R50G

(C) eiijoed esh Fophd wok g S
(D) esds Fachd o g eioed

Bod TeIED Gress Sobokn Ted DdEpE
eBRGBOC.

a. H88a 1. LO8S OITTNS

b. &xrss 2. DOTS suocions
c. &8 3. 5645

d. JéSTen 4. 5 esh& 57 Ben
(A) a-3,b-1,c-4,d-2

(B) a-3,b-4,¢c-2,d- 1

(C) a-2,b-3,c-4,d-1

(D) a-3,b-2,c-1,d-4
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ANSWERS KEY ~SOCIOLOGY- PAPER —llI
(SUBJECT CODE-22)

Q.No | KEY | Q.No | KEY | Q.No | KEY
1 B 26 B 51 C
2 D 27 D 52 A
3 C 28 C 53 C
4 B 29 A 54 D
3 D 30 C 35 B
6 & 31 C 56 &
7 B 32 A 57 D
8 C 33 A 58 C
9 B 34 B 59 B
10 B 35 D 60 D
11 A 36 C 61 C
12 A 37 B 62 B
13 D 38 C 63 C
14 D 39 D 64 C
15 A 40 A 65 D
16 A 41 D 66 B
17 B 42 B 67 C
18 D 43 D 68 A
19 D 44 A 69 C
20 B 45 A 70 D
21 A 46 B 71 C
22 D 47 B 72 A
23 C 48 D gk A
24 A 49 & 74 B
25 D 50 A 75 B
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